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C=610

TA4 o= 12,223, 31, yak=[1, 2,3, 4, 6, 8, 12, 24, 31, 62, 93, 124, 186, 248, 372]]
= (744

Fac EA918), FO2 8] 23 jj
c=611

745[fac:[5, 149], yak=11, 5, 149]] - (745

)C=612

e 222, o 228 |

Fac E2(77), #9% WJ[ %

~—

746[fac: [2,373], yak=1[1,2,373]] _ (746

C=613
TAT) fue=13, 3,831, yak=[ 1 3, 9, 83, 249]] — (747Fac %ZJ(Q) P gﬁj(@))
3 c=614

748[fac: (2,2, 11, 17], yak=1[1, 2, 4, 11, 17, 22, 34, 44, 68, 187, 374]]

= (748

Fac FH)(8), 495 ﬂg{ i j )
Cc=615

749[fac:[7, 107], yak=11,7,107]] — (749Fac T5T). 9B ﬁi/j( 115 ))
s /I 3

C=616

750[fac: [2,3,5,5, 5], yak=[1,2,3,5,6, 10, 15, 25, 30, 50, 75, 125, 150, 250, 375]]

= (750
( Fac F£)(4), 95 I—fy( 3Z4j)
C=617

752 fac=12,2,2, 2, 47], yak=[1, 2, 4, 8, 16, 47, 94, 188, 376]] (752Fac%57(“) fjﬁ%ﬁ( 736))
s /Y 9

C=618

753[fac= [3,251], yak=[1, 3,251]] _ (753Fac FHJ(127), K9EC FE(85) )c:619

754 fue=12, 13,291, yak=[1, 2, 13, 26,29, 58, 377]] — (754Fac Iﬁ](ﬂ) . %@,7( 506 ))
3 7)) c=620

T35 fue=15, 151], yak=11, 5, 1517] — (755Fac HT8) ﬁﬁ%ﬁ( 157 ))

C=621

756[fac= [2,2,3,3,3,7],yak=11,2,3,4,6,7,9, 12, 14, 18, 21, 27, 28, 36, 42, 54, 63, 84, 108, 126, 189, 252, 378]]
= (756

rac (12, oz s 452
C=622

758 fue=12.379], yak=11, 2, 379]] — (758Fa6%7( 381 ) fﬁ@?%ﬁ( 382 ))
3 ))c=623

759[fac:[3,11,23],yak:[1, 3,11, 23, 33, 69,253]]=(759Facﬂ,](_7) fﬁa?%fj( 393))
3 )7 7
C=624

760[fac: [2,2,2,5 19], yak=[1,2,4, 5,8, 10, 19, 20, 38, 40, 76, 95, 152, 190, 380]]

= (760

Fac E49(6), F92 85 75 j)
C=625
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764[fac= [2,2, 191], yak=[1, 2, 4, 191, 382]] (764Fac FHJ(65), F9EC FHI(116) )C: 628

705 fue=(3,3,5, 17], yak=[1, 3, 5,9, 15, 17, 45, 51, 85, 153, 255]]

= (765
( Fac TEH(7), #95% ﬂfz( 639 jj
C=629

766[fac: [2, 383], yak=1[1, 2, 383]] _ (766

Fac %7215/7( 385 )

))C=630

Fac E4936), #9585 5 ))

ok WJ[
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O\

767[fac: [13,59], yak=[1, 13, 59]] _ (767
C=631

768[fac: [2,2,2,2,2,2,2,2, 3], yak=[1,2,3, 4, 6,8, 12, 16, 24, 32, 48, 64, 96, 128, 192, 256, 384]]

= (768

Fac %’ng( 19 ), /ﬁﬁq:fy( 1?36 j)c 632

77O[fac: [2,5, 7, 11], yak=1[1,2, 5,7, 10, 11, 14, 22, 35, 55, 70, 77, 110, 154, 385]]
= (770

Fac Ifg( 24 )> /ﬁﬁyjﬁ( 91558 ))C633

771 [ fac=[3, 257], yak=1[1, 3, 257]] _ (771Fac FHJ(130), A9EC FEI(87) )c: 634

TT2( fue=12,2, 193], yak=[1, 2, 4, 193, 386]] — (772Fac %/7( 197 ) P %/7( 586 ))
S ))c=635
TT4 fue=12, 3,3, 431, yak=[1,2, 3, 6,9, 18, 43, 86, 129, 258, 387]]
= (774 )
5 942
Fac FY)| , RIE R
[Prwcrn( ) rn32))
TT5 fae=15. 5,311, yak=1[1, 5, 25, 31, 155]] — (7751%%7(4_) ﬁﬁﬁg(ﬂj)
3 5 ) c=637

rac s 192, e 22
C=638
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C=0640

776 fac=12,2,2,97), yak=[1,2,4,, 97, 104, 388]] — (776

777[fac: [3,7,37], yak=11, 3, 7,21, 37, 111, 259]] - (777Fac 92157(

~
ual\]

j, o8t ﬂfz(

-
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778[fac:[2, 389], yak=1[1, 2, 389]] _ (778}%%%]( 391 ) %9%?%%(%))
s /I / 3

779, _ _ = (779
[fac=[19, 41], yak=[1, 19, 41]] Fac T45(30). o 7245 5 )

C=641

780[fa(2: [2,2,3,5 13],vak=11, 2, 3,4, 5, 6,10, 12, 13, 15, 20, 26, 30, 39, 52, 60, 65, 78, 130, 156, 195, 260, 390] |

= (780

Fac E4915), 9285 <32 j)
C=642

P81 fae= 11,710, yak= 111,717 = (781%%@(41) %@éﬁ?%ﬁ’i(ﬁ))
s /Y = 3

C=643

782[fac:[2, 17, 23], yak=[1, 2, 17, 23, 34, 46, 391]] — (782Fac77:f’7 4. fﬁéﬁ%ﬁfjf 514 H



T84 fre=12,2,2,2,7,7), yak=[1,2,4,7, 8, 14, 16, 28, 49, 56, 98, 112, 196, 392]

= (784

e 1L e (22 |
C=646

785[fac:[5, 157], yak=[1, 5, 157]] (785Fac%f5](81) /ﬁﬁ%ﬁ( 163 ))
3

C=0647

T80 fue= (2.3 1311, yak=[1, 2, 3, 6, 131, 262, 393]] — (786Fac¥f¢7(ﬁ) %ﬁ%ﬁ?%ﬁ(n@j
3 C=648

788 fue=12. 2. 197], yak=[1, 2, 4, 197, 394]] — (788Fac FE6T), A %/j( 598 ))
5 ))c=649

789[fac: [3,263], yak=1[1, 3, 263]] _ ( 789Fac FHJ(133), F92FE(89) ) C=650

790[fac:[2, 5,791, yak=[1,2, 5, 10, 79, 158, 395]] (790Fac Iilj( 83 j o %f,]( 650 jj
C=651

791[fac:[7, 113], yak=[1,7, 113]] (791Fac#7155](60) /ﬁﬁ%ﬁ( 121 ))

C=652

792[fac: [2,2,2,3,3, 11], yak=[1,2, 3,4, 6,8,9, 11, 12, 18, 22, 24, 33, 36, 44, 66, 72, 88, 99, 132, 198, 264, 396]]

= (792

Fac Iﬁ]{ 26 ) ’ﬁﬁiﬂ]{ 15:8 j)c653

793[fac: [13, 617, yak=[1, 13, 61]] (793Fac FEHJ(3T), FIECFH(25) )C: 654

794[fac: [2,397], yak=11, 2, 397]] (794Fac 92157( 399 ) Kok 921/7 400 )
=655

), -

i 222, e 4 |
C=0657

795[fac:[3, 5,53], yak=[1, 3, 5, 15, 53, 159,265]]:(795FM¥¢/‘7(6 j fﬁé;?iffj(
95 ) A

796 fue= [2, 2. 1991, yak= [1,2. 4, 199, 398)] ~ (796

798[fac: [2,3,7,19], yak=11, 2,3,6,7, 14, 19, 21, 38, 42, 57, 114, 133, 266, 399]]
= (798
31 374
(™ e 24, st 22)
C=658

799 fuc=[17, 471, yak= (1,17, 4711 ~ (799&6%@(32) fﬁg@??—fg(ﬁ))
3 )/ c=659

800} fue=12,2,2,2,2, 5, 5], yak=[1,2, 4, 5, 8, 10, 16, 20, 25, 32, 40, 50, 80, 100, 160, 200, 400]]

= (800
20 1153
( Facﬁff’/y( £ ),mzafr—rfz( E jjc_m
80T fue—13, 3, 89, yak=1[1, 3,9, 89, 267]] = (801 e WJ( 9_) ot WJ(E ))
3 )7 s
C=661

802 fue= 12, 4017, yak=[1, 2, 4017] — (802Fac W/j(ﬂ) - %/7(4_))
2 ) 3 ))c=662
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= (804 37
Fac #7—@7(7 ), AIECTEI(100)
C=664

805 fue=[5,7, 231, yak=[1, 5, 7, 23, 35, 115, 161”=(805Fac%@/~7(3—j fjﬁyjﬁ( 347))
95 ) A

C=665

800 rue=[2, 13, 311, yak=[1, 2, 13, 26, 31, 62, 403]] (806Fac47r57(ﬂ) ,ﬁ@?;@/y( 538 ))
3 C=666

807[fac= [3,269], yak=[1, 3, 269]] _ ( 807 e FH(136), A9EC FEI(91) ) C=667

808 e~ (2,2, 2, 101], yak={[1, 2, 4, 8, 101, 202, 404]] (808

Fac %@‘7( 17 ) Lz %@VJ( 732 ) )c 668

810 fue=12,3,3,3,3, 5, yak=[1,2, 3,5, 6,9, 10, 15, 18, 27, 30, 45, 54, 81, 90, 135, 162, 270, 405] ]
= (810 o
Fac %721’/7(? ), FIFC T (72)
C=669
812, , _ _
[fac=1[2,2,7,29], yak=[1, 2, 4, 7, 14, 28, 29, 58, 116, 203, 406]]
= (812 ces
Fac TE£10), #9%¢ If’J( o j
C=670

813 fue=3, 271), yak=11, 3, 2717] = (813Fac%7zf’/7(137) ﬁﬁ%ﬁ( 275 ))

C=671

814 =12, 11, 37), yak=[1, 2, 11, 22, 37, 74’407]]:(814Fac77:f’7(—0) /ﬁﬁ%ﬁ( 554))
3 7)) c=6m

815 fue=[5, 163], yak=[1, 5, 163]] ~ (815Fa6%57(84) /ﬁﬁ%ﬁ( 169 ))
3

C=673

816[fac: [2,2,2,2,3,17], yak=[1,2,3, 4, 6,8, 12, 16, 17, 24, 34, 48, 51, 68, 102, 136, 204, 272, 408] ]

= (816

Fac Iﬁ](% )> #92 Iié]( 1?916 j )C674

817[fac= [19, 43], yak=[1, 19, 43]] (817Fac FHY(31), FIECFHI(21) )c:675

818 fue=12, 4091, yak=[1, 2, 4097] ~ (818%6%@,7( 411 ) ﬁﬁ%ﬁ( 412 ))
3 ))c=676

819 fue=13,3,7, 131, yak=[1, 3, 7, 9, 13, 21, 39, 63, 91, 117, 273]
= (819

Fac %%7( 12 ) HIB VL /7( 61317 ) ) C=677

820[fac: [2,2,5, 41], yak=[1, 2, 4, 5, 10, 20, 41, 82, 164, 205, 410]]

= (820

Fac %’ng( 22 )’ /747@?773}7( 91414 ))C678

8221 fue=12,3,137), yak=[1,2, 3, 6, 137, 274, 411]] (822Fac %/j( 142 ) s Ii/j( 834 ))
7)) c=679

824[fac: [2,2,2,103], yak=T1, 2, 4, 8, 103, 206, 412]] (824 109 1
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= (825

Fac F£(6), #95 I—fy( 6613 j )
C=681

826, . _ _ = (826
[fac=1[2,7, 591, yak=[1, 2, 7, 14, 59, 118, 413]] ( Fac%@éj(ijﬁ;@?%ﬁ(w‘j)

C=682
828 fue=12,2,3,3, 23], yak=[1,2 3, 4, 6, 9, 12, 18, 23, 36, 46, 69, 92, 138, 207, 276, 414]]
= (828

Fac %%7( 35 ) ﬂ‘ﬂ?pﬁ( 1?36 jjc—683

830 =2, 5, 831, yak=[1,2,5, 10, 83, 16, 415]] — (830Fac 30, 9 Iilj(@))
7/ c=684

831[fac: [3,277], yak=1[1, 3,277]] — (831Fac T(140), F9 %5/7( 281 ))

C=0685

832[fac: [2,2,2,2,2,2 13], yak=[1, 2, 4, 8, 13, 16, 26, 32, 52, 64, 104, 208, 416]]

= (832

Fac %’ng( 27 ), 9% 773/7( 91436 ))C 686

833 fuc=17,7, 171, yak=11,7,17, 49, 119]] = (833

N——

Fac %7215/7(

w|““

j, fo If/y(%j
C=687

834, . _ _ = (834
[fac=12,3, 139], yak=11, 2, 3, 6, 139, 278, 417]] ( Fac TA9(48), 495 V) %))

C=688

835 fue=[5, 167), yak=[1, 5, 167]]:(835Fac#7i5](86) /ﬁﬁ%ﬁ] 173 )
=689

836[fac: (2,2, 11,19], yak=[1, 2, 4, 11, 19, 22, 38, 44, 76, 209, 418]]
= (836

Fac Ifg( 12 )> /ﬁﬁyjﬁ( 81414 ))C690

837[fac= [3,3,3,31], yak=1[1, 3,9, 27, 31, 93, 279]] - (837Fac (10, A5 Ij/j( 443 ))
7

C=691

838 fuc=12, 4191, yak=[1, 2, 419]] (838%6%@,7( 421) ﬁﬁ%ﬁ( 422 ))
3 ))c=69

840 [fac=12,2,2,3,5 7], yak=[1,2,3,4,5,6,7,8, 10, 12, 14, 15, 20, 21, 24, 28, 30, 35, 40, 42, 56, 60, 70, 84,

105, 120, 140, 168, 210, 280, 420]] (840

Fac %ﬁj( j #IE pf/]( 22‘110 ) )c 693

841[fac:[29,29],yak [1,29]] (841Fac%/729 fﬁ@?%fj(ls))c 694

842 fue=12, 421, yak=[1, 2, 421]] (842&6%%]( ) /ﬁﬁ%ﬁ( 424))
3 ))c=695

843[fac: [3,281], yak=1[1, 3, 281]] ( 843Fac ) (142), #9EC FEI(95) )C: 696

844 fie= 12,2, 2111, yak=[1,2, 4, 211, 422]] (844Fac 77:)6/7( 215 j F5E TEA(128) )
C=697
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= (846

Fac#jﬁ]( 54 )> /ﬁﬁyjﬁ( 1?f6 j)c699

847[fac=[7,11,11],yak=[1,7,11,77, 121]]2(847&16%,7(2 )ﬁﬁ%ﬁ(zn))
3 )07
C=1700

848 fue=12,2,2, 2, 53], yak=[1,2 4 8, 16, 53, 106, 212, 424]]

T (Prers(9) war(20))

849[fac: [3,283], yak=1[1, 3,283]] _ (849Fac T143). F9 %5/7( 287 ))
C=1702

850[fac: [2,5,5, 17], yak=[1, 2, 5, 10, 17, 25, 34, 50, 85, 170, 425]]

- (SSOFM Iffj( 2 ) 5 ﬂfz( = ) )C .

83 ae= 123,371, yak=11.23. 3701 = (SSIFM FH(30), K8 %fz(ﬂ))
37/ c=104

852[fac: [2,2,3,71], yak=1[1,2, 3, 4,6, 12, 71, 142, 213, 284, 426]]

= (852

Fac#jﬁ](z_g} 7‘7§ij9( 111f4 j)cms

854 =127, 61, yak=[1,2,7, 14, 61, 122, 427]] (854%6%@(&] ﬁﬁyjﬁ( 634 j)
3 7)) c=706

855 fue=13,3, 5, 19, yak=[1, 3, 5,9, 15, 19, 45, 57, 95, 171, 285]]

= (855

Fac %’ng( 12 ), ffj@?iﬁ( 71015 ))C—707

850 fuc=12.2.2, 107, yak=[1, 2. 4, 8, 107, 214, 428]] — (856Fac Iilj( 113 ) . %/j( 764 ))
4 7)) c=708

858[fac: [2,3, 11, 13], yak=1[1, 2, 3, 6, 11, 13, 22, 26, 33, 39, 66, 78, 143, 286, 429]]

- (sssm wfz( 2 ) 5 ﬂfz( = ))Cm

86O[fac: [2,2,5,43], yak=11, 2, 4, 5, 10, 20, 43, 86, 172, 215, 430]]

= (860

Fac FH(13), ﬁﬁ”jﬁ( T jj
Cc=710

861[fac= [3,7,41], yak=11,3, 7, 21, 41, 123,287]] (861Fac FEI(17), FIECFHI(69) )c:711

862[fac= [2,431], yak=11, 2, 431]] - (862

Fac %fy( 433 ] o5t %51"7( = ])C .
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867, _ ~ (867
[fac=1[3, 17, 17], yak=11, 3, 17, 51, 289]] ( Fac Tk ( 37 )’ﬁﬁyj ( 361 ))
Cc=1716

868 fue=[2,2,7, 311, yak=[1, 2, 4,7, 14, 28, 31, 62, 124, 217, 434]]

= (868 0
Fac %721’/7(7 ), FIELFEI(84)
c="717
869, . _ _ = (869
[fac=[11, 79], yak=[1, 11, 79]] ( Fac F-£(45), #9% ﬁzf’?(% ))
C=718
870[fac: [2,3,5, 29], yak=[1,2,3,5,6, 10, 15, 29, 30, 58, 87, 145, 174, 290, 435]]
= (870
( Fac %ZJ( 34—9 ) FIFC T-E(86) )
Cc=719

871 [fac=[13, 67], yak=[1,13, 67]] (871 pac s2151040), 22 725127) )C: 720

8721 fue=12,2,2,109], yak=[1, 2, 4,8, 109, 218, 436]] (872}%%%]( 115) ﬁﬁﬁﬁjw_))
s I 7

Cc=721

873[fac[3,3,97],yak[1,3,9,97,291]]:(8731:“%@5/7(&) 747&%7(4_))
3 )0 5

C=1722

8741 fue=12,19, 23], yak=[1, 2, 19, 23, 38, 46, 437]] — (874&“}%%](&) %ﬁ%@(ﬂ )
3 7)) c=723

875 fuc=15,5, 5, 7], yak=[1, 5,7, 25, 35, 125, 175]] (875 ) ﬁﬁq:ﬁ](ﬂ))
’ 7)) c=74

Facﬁtfﬁ(%
876, , _ _

[fac=1[2,2,3, 73], yak=[1,2, 3, 4, 6, 12, 73, 146, 219, 292, 438] ]

= (876

Fac F#)(20), #9% I—fy( 1196 ) )
C=1725

878 fuc=12, 4391, yak=[1, 2, 439]] — (878Fac %,7( 441 ) ot 551"7( 442 ))
s /I 3

C=1726

879[fac= [3,293], yak=[1, 3,293]] _ ( 879 ke FHJ(148), K9 TFEI(99) ) Cc=727

880[fac= [2,2,2,2,5 11], yak=11, 2, 4,5, 8, 10, 11, 16, 20, 22, 40, 44, 55, 80, 88, 110, 176, 220, 440]]
= (880

Fac 24914), #9285 <0 jj
Cc=728

882[fac: [2,3,3,7, 7], yak=1[1,2,3,6,7,9, 14, 18, 21, 42, 49, 63, 98, 126, 147, 294, 441]]
= (882

Fac%féj(zs ) ﬂ‘ﬁ?iﬁ( 1?31 j)c729

884[fac: [2,2,13,17], yak=1[1, 2, 4, 13, 17, 26, 34, 52, 68, 221, 442]]

= (884 17
Fac - /i’ﬂ( 5 ), A9 F-2(80)
C=1730

885[fac=[3, 5,59], yak=[1, 3,5, 15, 59, 177,295]] (885Fac;zféy(ﬂ) ff@?%ﬁ( 555 j)
3 )7 7

C=1731



(Prers( ) wnr )

889[fac= [7,127), yak=[1,7,127]] _ (889Fac FHJ(67), FIECFHI(45) )c: 734

890 fuc=12, 5, 891, yak=[1,2, 5, 10, 89, 178, 445]] — (890Fac H3). K %,7( 730 ))
s /I 7

C=735

891, . _ _ = (891
[fac=1[3,3,3,3, 11], yak=[1, 3,9, 11, 27, 33, 81, 99, 297]] ( Fac Tk ( 25 )m@?;cf/y( 1387 ))
C=736

892 fuc=12, 2, 2231, yak=[1, 2, 4, 223, 446]] (892@6%,7( 227) %@iﬁ?%ﬁiﬁ(@))
S ) c=1737

893 fuc=119, 471, yak=[1, 19, 47]] — (893&6%@(33) fj@?I,ﬁg(ﬂ))
3 ))c=138

894 fie= (2,3, 149], yak=[1,2, 3, 6, 149, 298, 447]] — (8941% %,7( 154 ) okt %,7( 906 ))
s /I 7

C=1739

895 fuc=5, 179], yak=[1, 5, 179]] (895

Fac F45(92). #9855 | )
C=1740

890 fue=12,2,2,2,2,2,2, 7], yak=[1,2, 4,7, 8, 14, 16, 28, 32, 56, 64, 112, 128, 224, 448]]
= (896

Fac Iﬁ]( 28 ) ”ﬁﬁiﬂ]{ 1124 jjc=741

897, fuc=13. 13, 231, yak=[1, 3. 13, 23. 39, 69, 299]] — (897Fac 1), ;crg( 447 jj
7)) c=14

898 i 12, 449), yak=1, 2, 4497) = 898Fac#7f7( 451 ) 7‘7@?921/7(4—))
s I 3

C=1743

e e 31000k-1.2930 7 (P s 81))
3 )/ c=744

900[fac: [2,2,3,3,5, 5], vak=[1,2,3,4, 5,609, 10, 12, 15, 18, 20, 25, 30, 36, 45, 50, 60, 75, 90, 100, 150, 180,

900
225, 300, 450]] ( Fac 551/7(13—0) # %‘/7( 1321 ))
C =745

901 fue= 117, 531, yak= 1, 17’53]]2(901&10#71557(35) Wﬁiﬁw_))
3

C=746

902[fac=[2,11,41],yak=[1,2,11,22,41,82,451]]=(902&0%57(18) %73@?43’7(—0))
7)) =747

903 juc= (3,7, 431, yak=[1, 3,7, 21, 43, 129, 301]] — (903Fac52157(§j f%@?;fg(lﬁj)
3 7)) =748

904 fue=12,2. 2, 1131, yak=[1,2, 4,8, 113, 226, 452]] (904Fac %,7( 119) %@iﬁ?%ﬁiﬁ(%))
7)) c=749

905 fue=15, 1817, yak=1[1, 5, 1817] — (905Fac w593) ﬁﬁ%ﬁ( 187 ))
s /I 3

C=750



909 fuc=3, 3, 1017, yak=T1, 3,9, 101, 303]] — (909

908 fuc= 12, 2, 2271, yak=T1, 2, 4,227, 454]] — (908

Fac FH)(17), 95 %EI/J( 67 ) )
C=1752

Fac %fy( 197 ] 8¢ SCJ»‘/J( 2 ] )

C=1753
O jue=12, 5,7, 131, yak=[1, 2, 5, 7, 10, 13, 14, 26, 35, 65, 70, 91, 130, 182, 455]]
= (910
(7 e 22, o s 122
C=1754
N2 fe=12.2.2.2,3. 19], yak=[1. 2. 3, 4, 6. 8, 12, 16, 19, 24, 38, 48, 57, 76, 114, 152, 228, 304, 456]]
= (912
( Fac FH9(5), #9%¢ ﬂfz( = j)
C=1755
913. . _ _ =(913
[fac=[11, 83], yak=11, 11, 83]] ( Facng’/y(47), 7/‘7@?77315’7(9—))
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